Tableaux des Puissances de Dix (])

Divisez le nombre de la rangée par celui de la colonne.

0,0001 0,001 0,1 0,01

43

47

81

28

0,1 1000 0,01 10 000

58

38

39

44

45

0,001 0,01 10 10 000

28

29

86

35

64

0,1 0,001 10 000 100

69

61

50

58

98
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Tableaux des Puissances de Dix (J) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 0,0001 0,001 0,1 0,01
43 430 000 43 000 430 4 300
1 10 000 1000 10 100
47 470000 47 000 470 4700
81 810 000 81 000 810 8100
28 280 000 28 000 280 2 800
+ 0,1 1000 0,01 10 000
58 580 0,058 5800 0,0058
38 380 0,038 3 800 0,0038
39 390 0,039 3900 0,0039
44 440 0,044 4 400 0,0044
45 450 0,045 4 500 0,0045
+ 0,001 0,01 10 10 000
28 28 000 2 800 2,8 0,0028
29 29 000 2900 2,9 0,0029
86 86 000 8 600 8,6 0,0086
35 35000 3500 3,5 0,0035
64 64 000 6 400 6,4 0,0064
+ 0,1 0,001 10 000 100
69 690 69 000 0,0069 0,69
61 610 61 000 0,0061 0,61
50 500 50 000 0,005 0,5
58 580 58 000 0,0058 0,58
98 980 98 000 0,0098 0,98
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